2 e Py S P
N ~

& 2 gEsE S
— = 3 | = S e e
2 E = £ Z |3 Bl |2 = ml aeg e
= 2=l (Zl=lgl=lalElE8lal2lEI8| |=l=|2] B 2= g "=
< SlE|s|8|E|5|E|2|2|=|5|5|E|2|5|2|5|8(58|5| SE=¢¢
a SlslBzls|d|o|S|elAl=|ElE|=|8|E|5|8|8tE]l81 8B - S E 3
2 SlEI2|Eale|SIEIE|E|I2|IS(2lE|E8|E|2|alEl&|d2] ===
= slElg|E|g|B|2|B|E[E|G|.lT|E|E|E|E|S|8(B|8E| SE«&
o = = | : 7 A2 1 5 - < = =

gl lalclitlaclslo|aBlEel|IS|E2is|g|Slalael = 3
SRR = - R I PG ] = ) = R B P B - = > o uuﬂ
M Ors Buaszers AAE.P_;BBKH.AAEXHH(HGCTW um.
= - e = =
e AffAHCKBI . . . . ... 10]30]30[3015[40[50]30|25]40[40]50[15|50]15]40]50]40]40 |0} ¥ m R g
) Aencesii .. ...... 30(10140(4513045160/3035/50 15]3030/60(15/50/60 15/15/30] s T §c=
u._.. mhwnzmzezri ..... 30(40|10({30[{15]{50({30|30{15|15|50{50{15{30[30/15|30{40{50|40 s M e o m..
= EHropessii . . . .. .. 30(15]30(10[15 30150145} 25/40130|30(15/50{154050(15/30 30} I & a2
= Apxbimeaamessiii .. [15[30|15[15[10|40[40|45[15{30|40[40[15|40]15|30]40(30}40|30 M e S
= Barpaacksii . .. ... 40{15(50]80[40(10[70[40]45[60|15{15/40[70{30|60[70({30{15|30|] S & > 2 =
- BocHEHCKBIH . . .. .. 50(60]30[50(40|70{10|50{35(15|70]70{40]|30]50/30]15(60{70/60] S , & § =
- F o = Bi% 2=
= - Kacran6oackspiif ... [30/30({30]15]15[40[{50[10]25(40{30[30{15[50(80(40/50 (15|40 (15] S B2 5
o Ilaperpaackbiii ... [2585[15(25|15[45(35|25| 5|25045|45{15(85[25(25]35(35[45(85] = & &= E
= AYHABCEBIH . . . . . .. 40(50(15[40[30/60(15/40/25/10[60(60{30[30[40 15/30|50|60 |50 ij = m g =
= AlapOexbIpersiit . .. 40 (1550304011570 30145} 60110|15/40/70|30 60(70/15/3030 X = = < =
EpsepyMeRbIi . . . . . 50/30(50(30|40[{15[70{30{45/60|15(/10]40]|70(40[{60[70|15|30(|15] S = T

o | Epsepy . o
N%puwo__hs:mcczvg 15(80(15|15[15]40{40|15{15]|30]40|40{10]40|15/30{40/30/40(30] = ..mw.«z AM =
- ABHMHECEBIA . . .. .. .. 50/60{30[50[40|70[30(50/35|80[70{70[40(10[50]|15|15|60|70 (60 m = £ E i
S KomAHCKBIA . . . . ... 15(145(30[15[15(30(50|30[25[40[30(40[15|50|10[40[50[30{30(s50] & £ § =
= COAYHCEBI . . ....|40]|50|15|40{30|60|30(40/25]{45[60]60|30|45[40][10[145[50/6050 M S g5
= Ilxoapencknit . ... [50/60{30[50[40(70(15|530]85|30(70[70[40!15(50/15[10[60;70. /60| & & m el
— CuBacerbiid . . . ... 40115 40(15|30{30/60(1535|50|15[15]{30 60(30{50[60/10{30!15 om e -8 _n =
CHpIACKBIH . ... ... 404550 30 (40({15]|70(40(45|60(30|30/40|70{30(60 70(30{10 40f -~ < =T 1
TpebusonACKsId . . . [40{30[40]30(30[30[60]15{35/50]/30/15/[30/60|40 wc_g 15 2_:. SSChR



